11A30H = (13°C)

HEE:5. 5Kwh JHEEHEZ:0. 4Kwh
£EA SEEE

:5. 4Kwh

118290 B#HE (14°C) EE:12. 6Kwh HEEHE 2. OKwh
AIER FEE:12. 2Kwh

:2. 7Kwh HEEHN=:1. 3Kwh

11A28H Z£#&M (7°C) REE
FEE:2. 5Kwh

JKEER 5C

118278 B (12°C) HEE:21. 4kwh HEEFEH=:0. 6kwh
NEEH FEE:21. 1TKwh
11H26H Z#%™M (9°C) RE=:1. 8Kwh HEEBEN=:1. 1Kwh
AEER 5EEE:1. 7Kwh

118258 B (11°C) HEE:19. 9Kwh HEEH=:2. 2Kwh
=

HIEZH StE=:19. 2Kwh
11H248H £ (10°C) HEE:9. OKwh HEEZEHE:0. 5Kwh

THEH EEE:8. 9Kwh

11H23H M (10°C) HBT=E:1. 7Kwh JHEEH=:0. 9Kwh
£EAR FEEE:1. 6Kwh

11H22H Z#%KE (7°C) ¥E=:8. 2Kwh HEEH=:0. 6Kwh
AR FEEE:8. 1Kwh

118218 B (13°C) HFE:21. 2Kwh HEEHE:0. 9Kwh
JKEEB FEEE:20. 9Kwh



11H20H B (17°C) HEE:20. 5Kwh HEEH=:1. 7Kwh
NEEH St = 20Kwh

11H19H BRE (9°C) HBE:2. 9Kwh HEEH=:0. 8Kwh
AEEHR FEEE:2. 6Kwh
11818H B (16°C) HEE:21. 7Kwh BHEEZTHE:1. 7Kwh
HIEZR FEEE:21. 2Kwh
11A178 Z#&™MW (10°C) HE=:1. 5Kwh HEBHEZ:1. OKwh
+TiER FEEE:1. 4Kwh

11A16H B (16°C) HE=:
£ER SEEE:2

0. 6Kwh HEEN=:1. OKwh
. TKwh

Ol\)

17. 7Kwh H&EEH=:0. 5Kwh

118158 B (14°C) HRTE:
FEEE:17. 4Kwh

REEH

:19. 7Kwh  HEEZEH=:0. 8Kwh

11A14H B (16°C) HRE=
FEEE:19. BKwh

KiEH

118138 B (17°C) HEE:10KWh HEBENE 0. 4KWh
XNEEH FEEE: 9. 8Kwh

11A128 2% (17°C) EE=:4. 7TKWh HEEHE:0. 5KWh
AR FEEE: 4. 6KWh
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(14°C) HREE:6. 1IKWh BHEEHE:0. 2KWh



11)%55105 i (19°C) HEBEE:21. 2KWh HEEHE 0. 8KWh
TR FEEE:20. 9KWh

11)%5595 & (19°C) HEBEE:16. 2KWh HEEHE:0. 6KWh
£ER 5EEE:16KWh

11§8E| iE (19°C) HTFE:20. 1KWh HEEHE 0. 5BKWh

KiEH FEEE:19. 9KWh

11575 iE (19°C) TE:10. 8KWh HEEHNE:0. 9KWh

KiEH FEEE:10. 5BKWh

1”165 [55] (14°C) REFE:0. SBKWh HEEHE:0. 5KWh
XEER FEEE:0. 8KWh

11)51555E| = (15°C) HEE:6. 2KWh HEZTHE:0. 4KWh
HAEER FEEE:6. 1TKWh

11)51334E| i (17°C) HEE:21. 7TKWh BHETEHE:1. OKWh
HEEZR FEE:21. 3KWh

11§3E| s (17°C) BTE:16. 9OKWh HEEZEHE:0. 7KWh

THER FEE:16. 7KWh

11}51332E| & (17°C) REE:22. 6KWh EHEEHE:0. 6KWh
€A FEEE:22. 2KWh

11818 BB (20°C) :18. 8KWh EEEHN=:1. 1KWh

ot o
&
bBID i

:18. TKWh



